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Solve the following (word problem) :

a. Rajesh bought 12 | 320 ml of milk, sumit
bought 9142 ml and Rahim bought 14 |1 62 ml.
How much milk did they buy in all ?

b. Mohan weighs 67.3 kg and kamal weighs 52.9
kg .who has more weight and how many
kilograms?

c. Three bags contain 124 kg 327 g,109 kg 538 g
And 117 kg 418 g of sugar . What is the total
Quantity of sugar in all the bags ?

d.Rohit travelled 327.24 km by bus, 407.98 km by
Train and remaining distance by this car. He
Travelled 987.36 km in all . what distance did he
Travel by this car ?

e.Rohini travelled 1224 km 327 m, villa travelled



924 km 28 m and shanti travelled 2498 km
370 m. Find the total distance travelled by
them?



